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ENGLISH VERSION

1 (@) Whatis quartile deviation ? Explain characteristics of Q.D.. 5
(b) Calculate quartile deviation by using appropriate method: 8

Less than More
Class 600—800 | 800—-1000]1000—1500[1500—-3000
600 than 3000
f 15 32 47 120 90 36
(¢ Calculate skewness and coefficient of skewness : 7

Class | 0-4 | 5-9 [10-14 | 15-19 [ 20-24 | 25-29
f 3 5 9 12 28 13

OR
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1 (@) What is skewness ? Explain types of skewness.
(b) Find missing values :
Particulars Group 1 Group 2 | Combined
N 60 - 100
Mean - 35 32
S.D. 4 - 5.06
(¢ Find skewness :
Class | "5 ™ 1019 [ 20-29 | 30— 49 | 50— 79 | 80-99 | 100-120 | MO
10 than 130
f 80 180 160 250 120 100 80 30

2 (@) Write characteristics and uses of Index number.

(b) Calculate I :
Base Year Current Year
Price Exp. Price Exp.
3 30 5 45
5 40 6 54
8 48 10 50
10 40 10 40
6 18 8 40
(©0 Find missing values, if salary of a certian month is
Rs. 500 and index number of the month is 260 :
Group A B C D
Exp. - 150 - 50
Index no.|[260 250 300 200
OR
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2 (@) Prove that, Fisher’s index number satisfy time and 5

©

3 (a)
(b)

©

factor reversal test.

(b) Find Iy and Iy 8
2000 2005
Price Exp. Price Exp.
10 100 8 96
16 96 14 98
12 36 10 40
15 60 5 25
If L :P=28:27 find X : 7
A B
Po 1 1 P1
Qo 10 5 Q1
Write difference : Population and Sample.
If N=25,09, 11, 19 5
n =2
Prove that, population mean is equal to mean of the
sample means, and also find variance of sample means.
Find ;Sl and V(;sl) 5
N Mean Var. n
120 42 60 12
100 45 50 10
80 50 70 10
OR
Write difference : 5
Simple Random and Stratified Random Sampling
Methods.
Find Missing values : 10

(b)
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Gr. N Mean Var. n
A 60 8 12 10
B - 6 10 6
C - 9 -

N =100, y, = 7.5, V(y,) = 0.4905
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(a) Explain scattered diagram method.

(b)

Calculate r :
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40-60 - 5 8 - -

60-80 - 3 - 10 -

80-100 - - - - 10
OR

4 (a) Write difference : 5
Correlation and Regression

(b) Two regression lines are : 10
8x — 10y + 66 =0,
40x — 18y — 214 = 0,
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